
Equations for Regular Physics 
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ΣF = ma            
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FAB = −FBA  
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E1 + W = E2                  W = Fd   
       

PEg = mgh               KE = ½ mv2                 PEe = ½ kx2             t
WP =  

 
p = mv

            
m1v1o + m2v2o = m1v1 + m2v2     

         
 Ft = mΔv 
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PV = nRT  
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TF = TC
9
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TC = TF − 32( ) 5
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TK = TC + 273 
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ΔU =Q−W            
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W = PΔV       
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ΔUcycle = 0               
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W =Qh −Qc            
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e =
W
Qh
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Fe =
kq1q2
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k = 9x109 Nm
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k = 90 Ncm
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ΔU = ΔVq
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ΔV = Ed
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ΔU = qEd
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E
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P = IV  
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Ibattery =
Vbattery

Req
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ΣΔVloop = 0              
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Iin = Iout  

 
Fmag = BIL

            
Fmag = Bvq  
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ε = −N ΔΦ
Δt          

Φ= BA
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εmax =ωNBA
      

 

€ 

Vp

Vs

=
Np
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fλ = v              µ
Tv =  

 


